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GHATHTE G Fe-TGTRINT, Gehe-a G- |

STET Tabet 7 &l J@T Gt 7el & I Gehd 7 &1 ford |

Answer all questions in Sanskrit, unless instructions are given otherwise.
ST T T GUeT: I |

T UH-TT H AR Eue § |

There are four sections in this question paper.

3TqfaaieT — aaa}aq-q\ (3111'%31’3'[ - Wﬂq) 15 ==t

Unseen Reading Comprehension

T TIATCHERCREH (hd | TS oiaT) 15 st

Writing Skills in Sanskrit

TSR — STEErE Apaaeeae IRed: I 40 + 10 = 50 =T
(TTSATST — SToETY Ud H&hd Qiecd Ue)
Reading Comprehension & Introduction to

History of Sanskrit Literature

FRISASHN: (T TIH_ 3TTGhN) 10 + 10 = 20 A=t

Metres and Figures of Speech
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Tug: & (Section A)
HAUFSATI — AT
AUTSATIT — T

Unseen Reading Comprehension

TefefaTy s=egd TfadT TeTH v ST S |

frefafad T STT=s1 i g ST 7T Ut o 3T §&hd § T |

Read the following two passages and answer the given questions in Sanskrit.

) W:ﬁ@?

qE 9 3@ 9 AHeSa e o wafd | st 7gs: w@eied 3%
FeBId | TR AT ST Tawd: JH | @ e wREld — S SRR
AT T FoIRT ST gHet foermd T8 9 STRTHTERI a SUR | v | e
TR Ui S A 16 g9s | o TaH A St aq S i O
A | WA AT o ok T T 3 faue: Jme  Smetde o | e
TR GRa @ Ao e |

AT

(3) THUSH IWA |

)

Q)

T & H I aIT |

Answer in one word.

() BT wEeieH 6 F=sid ?
(i) T HE Y T ?

JUTETRA SR |
U7 T B 3R ST |
Answer in a complete sentence.

T T {5 e 2

FTERT, ST |

I IR AT |

Answer as directed.

() ‘uf<r zfa e wgas e 2

(i) ATy 3 U T foetimus ot uge 2
(iil) o T FIHUE HE T ?

(iv) 3T 3t fermoore foere fohm 2

3

15 s

hx2=1

ix4=2
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@) fara: s
RA IR SO i | T RAR Uiqaeh 9Rd o= A FReHesid o
RATE: WHfgeal IRAH ST o Hord: Watd | 9Rd 9al Siqeenee fawd
FAMCT | RO UieRl TR % Aol R Saehag it | STashansiaes
TR TS¥d IR THOT TG TS 39 | Ra Toot: wdel: S
AT ST Hfoed wearesh: STEm: od: | ST STEd STaana-m e
TorferRIfoT eI ST | TRA Aiaaiee: 288 3 998 H§9R; 31ad |

T,
(37) THTA I | 1x2=2
T 31 H IR A |
Answer in one word.
(i) 9T e ToRrg HUT 2
(i) WRT HIg: I AN ?

@)  guiaeRH WA | 2x1=2
o1 9T H 3T ST |
Answer in a complete sentence.

IR TLHH0T o her 2

(®) T A | 1x4=4
FAH IR T |
Answer as directed.
(i) wafa 3 frmee T e ?
(i) T 3 e e 6 ?
(i) “FaTEr” 3 use S ey o uge ?
(iv) gt 3iq foreore foere fom 2

@) 3T TR Fd SUGHT Wh Wpa forad | 2
TH SFTHT & oY STFHT Mo W&pa | ffay |

Write a suitable title for this passage in Sanskrit.
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ue: G (Section B) 15 =
HEpA TR AETT
T § TS @
Writing SKkills in Sanskrit
2. HoSUId: SraaugRd il STHifrEd wa R 34 e | 1x10=10
HosIT ¥ 3fad Hegeha ofe ffeiiEd e &l [0 & I fafau |

Complete and rewrite the following story, with the help of the words given in the box
below.

AT :

PRI T TE FTR FT Gy g G9q @ | Heed @ i

SRR (i) TS & | ThHaT Ueh: TAHR: T (i) T T qed

T | A e aFh T (jy) SN A T FORE e ST | W W

(v) S | TS GO TR ST S | ST TN gl .

HUF: IARA-Td HUH: A (vi) 9T 1 gAY faferer qomoafw o1 @ o@
STTEiSoRIT: e U UY Uh: wEeRvieg e W Ty | S T S

(viih) | T SRR AR R | R w07 | T
TG REL () S0 7 Hfe |

HTW T

(=N

REHRH, FOIH:, SAHIYT: |

3. oS ST fecn Srmaet 2id fouay siuehed usa St Segho forad | 1x5=5
TSI @ U YA “MATEel’ {9 W Gpd | Ut e fef@u |
Write five sentences in Sanskrit on ‘Deepawali’ with the help of the words given in
the box below.
HTW T

3Iqa:, i, TRaay, SR, 7=, 9, FaT, 9ia:, 3ead, 339,
TR, TV, FRILT:, 3TAeA, oo, e, fer=, faa< |
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@gug : T (Section C)
TSI — Saata SEpauI e IRad: =
TTSATI — FFSNET Ta H&he Aifeed UR=a

40 + 10 = 50 ST

Reading Comprehension & Introduction to History of Sanskrit Literature

TefeTRae eI, T, 1A o Ul METue SR SR |
TATeRaT TeTeT, Te I AT S UgeRt 15U T W % ST SR H &I |

Read the following prose, poetry and drama passages and answer the given questions

in Sanskrit.

(EF)TIETST

FRIRTTRTAAINGI | FHURIaRSaye: o & H3Meg UHTEHETay STEea-amig
foraRiTes ®q I FowmaE — | =Ssme | fafd-atedeardia-
TS ACITIIRR AN | hae o MO uaicied amr deEmyey |

STARTHILET 0T TS 17
qIAT:
(37) THIRA I |
T 95 | IR ST |
Answer in one word.
() ST T ARSI FHeesid o 2
(i) o TETSH SUSTH TS ?
@) guiareRH IR |
U ST H 3R JIT |

Answer in a complete sentence.
iy T HigeT qard ?

(F) IR IWA |
T I T |

Answer as directed.

@
(ii)

IH0T.” 2fT fereroTaR fereteud fer 2
“amieer 2 A wgus fe 2

6

yx2=1

1x2=2
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@) 9EH:

Answer in one word.
() T I AR o ?
(i) | I TEEag 6 2

7

yx2=1

1x2=2

FMeay) g A

yx2=1

“TITIAHHTROT Toem fafTad STe-msamT: |
ToreIe; TaforaT FHTt fonot Heavea T |1
oA
(37) THTRA IR |
T 31 H IR A |
Answer in one word.
(i) TAEAHRRTET o faTHa ?
(ii) 3T B fHmte 2
@) qoiaTRH 3T |
U7 TR | I T |
Answer in a complete sentence.
A ot forguot wafq 2
@) FATAII SR |
PRIIEC BTl i el
Answer as directed.
() gEaEn’ g fh qaEuRy ?
(i) ‘T 3T factag 6 2
(M e
‘el ;0 W G | (STeeas
HTAH SIS T & IR |
BRI ST | TS dEstE | (ST RlE) 37, 7 hael Hidetsede
I, FHOTETH-FERANGAT WRUT T TANGHTERIT | ST | o9y
o qEYUEiRT |
(geg—ve, Few, gamwgay) oW | fe F uwarg 2 o
TEEHT ST B ger JEesony gaged |7
oA
(37) THTRA IR |
T 31 H IR A |

[P.T.O.



@)  goiareRE IR | 2
U7 T B 3R ST |
Answer in a complete sentence.
A Y TSI ?
(F) IR ITA | 1x2=2
AL IR T |
Answer as directed.
(i) ‘A T TS R 2
(i) @ 3T FEATHIE FHEH T ?

5. VIS Hettaen fored | YVax4=2
IIET T 37T W THAT ek fearan |
Match the words with their meanings and rewrite the same.
I 37
(30 =’ (i) emmE
@ eEm (i) g
@) I (i) WEEI
® g (iv) ITEREE
6. T@TghATRT MY Fe-H0T Ho | 1x4=4
TEIigshd URT % 3R T F9-FH707 Hif |
Frame questions on the basis of the underlined words.
(i) ST, wearn vieher: Fa: |
(i) gfoream: Tt Wi |
(ili) TAHFRT THERE ORI 2 |
(iv) STETTEE: S0 A |

49/1 8
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STTATGHTETAT: Rl AesTuuggerddal el o |

2%x12=6

TetetEd gt Jremet § Hooor § U 7T 91T i Gerdar ¥ Red T 1 gid ek [aay |

Fill in the blanks in the following two explanations with the help of the words given

in the box and rewrite the same.

(30 “IETATE e Afcchod STl S |
T I ST 77 T FHEEE |17
el

aq fepfomel s () efE aq e (g5 oAl | Sife HAR we

(iii) [CIGICE) @(v) | H&i: v) T A (vi)
() TR AEETReT S |

T IS FHod AR |17

el

e TGy SR A WA () N el TEOR e | s
A AR T (5 I L TR 1T gy e o

?:lﬂm v) qﬂ%ﬂéw i (vi) @Té‘% |
HesTHT
TRERUT, IRTSAT:, W, HEATY, SHWE, oo, ST,
TR, fUTEY, FEt, SRR, N |

STfeAgTar; seliwar: Saagd Raaegid Foa | 1.5+1.5=3

freaferfiad St sl 3 orE 3 o e 9 A
Fill in the blanks in the following prose-order-renderings of the two verses.
(37) “TEEAr AT gt

T e

AT IMTEICEAT o

TS T et S 117

A

e T () AR o W W T g@d | o we ()

SCEANH T () o AT 3
@) “FeA A A T |

e FHACTAH TS |

T AIATEROMT T

FHedd T e afar |17

a7
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A

TS | T A 9y 37elfE | @i () ST ;S | A i (ii)

TSR~ (j55y A FoAd |

9.  FUIHIM IRA |

AT I T |

Answer as directed.

(30 FHgUS HATE T foa | x4d=2
al ue fshams g |
Select the subject and the verb.
(i) U e SaeErd |
(i) @ foriiaeRiT=s ] YHAE 3T |

@) foemomg e | 1x2=2
forereoT 05 9T |
Select the adjective.
(1) URE Qo] PHN: |
(i) TTTa ug SR ArEa |

(@)  STHEqUSTal: YEihaaaTs e e ? 1x2=2
freferfaa dfat & Yeifea-gaam ug e foe wgea € 2
In the following lines for whom the underlined pronouns are used ?
(i)  EHCTIUIETE; § T AL fe=ad |
() @ T VemEad o= STHiTeeh I et uaid & |

®) STHEagRra 3pa;” T 3. 3d ugar: THmHEs o8 far forad | 1x2=2
frfefaa dfeal 5 @ spa qan ‘@i’ 39 TRl % GHEIEE U8 g v |

Select and write the synonyms of the words ‘3P and ‘@’ from the

following lines.
() T T U TR e g TSR et & |
(i) SR AT a1 I& FEUSHT ST |
(@) W o H ? ax4=2
ERRERCRC A
Who is saying this to whom ?
(i) o o, TdfcuerH 99 srefgasd a5 fashudea st 1
(i) AT UF WAt WSHRISeN |
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10. (37 IrefEdeiEs T HE U Heaed A1 foEd | 1x5=5

o

frfeiad wiEeht & fhdl U e &1 T fafay |

Write the name of any one work of each of the following poets.
IR, ST, TR I, ST, /T |

(&)  IrefATEdeHT TRgshHT AT forad | 1x5=5
frAtafad TeaTeT o oi@eht & A1 farEu |

Write the names of the authors of the following works.

ITRTANH, HeTHRAH, FHE-STH:, UTTO7-36-=T, Aferdeny |

ug: T (Section D) 10 + 10 = 20 =
TRISTATHRT;
B TaH AESHN
Metres and Figures of Speech
11. (37) 9 3 | 1x2=2
T % IR A |

Answer the questions.
(i) “fommam’ o1 = T ?
() e e gﬁi_"@: o o ?
@) STETARGAURHTST: I | 1x4=4
freferfiaa afkemoren s QT i |
Complete the following definitions.
() ST THATTAR I’

(i) gEbeRfcw _ wgelfeshitead I
(i) === et ifTetis: 1’
(iv) I qEvEERRd v
@  TefcEaar: T 9<d: 3307 fora@d | 2
frfofad 5 & foedt T 3= 1 33eRT fefau |
Write an example of any one of the following metres.
3T, AT |
®) IFearEarsEd: 6 6 o= ? 1x2=2
fAfefaa dieal § iF-5H 91 35 € ?
What is the metre in the following lines ?
(i) EEAHEHRT foeE

(i) ‘TET FRld foage ded gArEsET |’
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12. (3N SHfAiEdd FEaaese ISTAGHRE R a7t e | 3

frfetEd o 9 fHl U SRR 1 TRTERT &0y feafan |
Write the definition and example of any one of the following figures of speech.
FHFH, I |

@) FHETIEHE TAALHRE TR0 o forad | 3
ferell U STTCTehT oA 8707 Ul SRTeRT fetfiay |
Define and illustrate any one of the figures of speech.
ST, ST |

@) FEfTEdIgeRar: STeTgshr HEerd | 1x2=2
Tefefaa dfeat § STergsR &1 e B |
Indicate the figures of speech in the following lines.
() A T I g g o
(i) H9 STavEr ety yiaghiresta

®) STeAEAIATIEd T | 1x2=2
fferfa g1t GRS o R |

Complete the following definitions of the two figures of speech.

() TEIETIRIT ... ¥
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